TomTom (Cage Pairs) by Dan Katz
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Rules: Standard TomTom rules.

Additionally, no clue numbers are given 2+1 21 4 2‘3 5
for the cages, but clue numbers are given 55102 26  Ero i 26+ =i
for adjacent pairs of cages. For each clue 4 512/11|3
number, it must be possible to apply one - B0x -

operation to the digits in the first cage, 5 31412

a different operation to the digits in the

second cage, and a third operation s | LS 512 - 1
(different from the first two) to the two |5 ot 0-
cage results to obtain the given clue 2131154
number. Example by Serkan YUrekli
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